UCC28700-Q1 unstable switching
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Phenomenon

At light load condition(500mA Load), the switching waveform is unstable and big
output voltage ripple is occurred. This phenomenon is occurred regardless of
whatever the input voltage range. Incleasing Rcs from 142mohm to 270mohm,
it resolve this phenomenon. But this solution makes the maximum load current
is reduced. They want to know the cause and the solution about this.
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Phenomenon

3. Stable waveform 4. Unstable waveform
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Vvs=0.5V/div, Vcs=0.2V/div



Question

- Why does increasing Rcs resolve this phenomenon?

- Could you give us your opinion about what the cause and the solution of this
phenomenon?



